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Day 5: Modeling with Exponential Functions: Solving Equations with Rational Exponents and Redicals

Unit 3 NOTES Honors Cotmmon Core Math 2
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Part 2 - So!vmg equations with ra ccls \ 2
The next few problems are.. different. We're going to come across some equahons that have ne solution and some
that have two solutions. Remember, you can always check your answers by substituting your solution into the
equation to make sure it works. In fact, you really peed to'check your answers to these problems! When we solve an -
equation corr‘ec’sly but the answer doesn’t work whe,n we check it, we call the solution ex?r‘aneous
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You're going to come across some fougher prob!ems that'involve’ multiple steps. Lef's try acouple. @ %=} dyes w80
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The distance between two points is 52, If one of the pom’rs is located af (4,2) and the other point has a x- -value of 5J=w;;;
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2. The volume of a sphere is 2145, If the formulal = (4}3)7:1‘3 is used to calculate the volume of a sphere,
what is the radius of the sphere?
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The equation v = v2.5r allows ;Iu to calculate the maximum velocity, v, that a car can safely travel around a curve
with a radius of r feet. This is used by the Department of Transportation to détermine the best speed limit for a
given strefch of road. If a road has a speed limit of 45 mph, what is the tightest turn on that road?

S Szj& eS v %C;E\% = ;}"j -

{\%a D=(|
i, .i%ﬁ-\.’;ﬂw M"w!?
Day 6: Quiz Day
Warm-up:
Simplify the following: Space for Practice Problems:

1. 9316 +%/54

2. 648x°y? \[10x°

3. VY625x°
Solve the following:
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5. (x2) =27

6. Ja+4—-4=a



